& 1-NA x o] ghe F-atefet.




thS 1o A L/AHB = /BAC =

90°O111H oS = 27 oF

o o

O AABC o AHBA
® AC:AH=5:2

3 /BAH = /ACH



t}e )4 BC //DE 7} HE= st AC o Zol= dntz A
Stofof st=717




o 204 A 1+ AABC 9] WAL off, BD 9] Zoj& 2

@D 3cm ® 4cm 3 6cm @® 9cm 3B 12cm



the 183} Zo] AD 7} /EAC ] o] 55
ofzt.




.

o

Gl

I

® 0606

® 0,6,

ORONGE)

® O,0,0,6

® ©,®, 0



o3 2" A aABC
AABC £ = _|EH'§__ 740]‘:]—
Ao dit AP o= &

AL

O AB:AB =2:1

1
—
=
T
Kelfe)
e 1

® AC:A'C’=BC:BC

B) AABC : AA’B'CY =1

(@)

o)

[©)

@ /A =2/A
@ AABC =2AA'B'C




8.

th 23 o] §e 42715 el M AB % GH,
GI7h M2 g3t Wolth, thg % &7 ¢ %
A
|
|

S15-
D) H=gl
// \\\ J}\
E ~ FK/ ~ L

O &H]+= 5:3 o]t

® /ABC = /GHI
GH _HI K
AB BC BE

@ ADEF 0 AJKL
Hl _GH_GI
BC AB AC






10.

2 AABC oA /B
18cm, AD = 10em ¥
F5}olat,

Qe e




@ 6.5cm @ 7em ® 7.5cm

@ 8cm B 8.5cm



12. vz 191X AB//DE °]i AC
A o, x Of #27?

B 34



13. ThS 1T 2 /ABC oA /A 9] o[5RH0] BC 9} whpe 4
D2t & o, AB = 10cm , BC = 12cm , CA = 8cm 2t
BD 9] dol=?

10 13 16
@ %Cm @ %Cm @ gcm
@ = om ® = om



14.

o8 ™o A /BAD = /ACB, /DAE =
(EAC ¢ W], DE ¢} EC 9] Zo]9] 25
stofat,

4
@ 0.5cm @ gcm ® 1.5cm

@® 2cm B 2.5cm




SwAlelal, AB :
o, 4

LA 9] 9]

ACD 9] ¥ o]7F 40cm? 2

o 1H 9] AZtE ABC ©4 AD

ABD

B
N
o

—

1@0
N
e

15

"_

AC=5:3 0|t}

52

=E

o ol

9/0!

—CIm

50

®

@ 10cm?

® 8cm?

cm?



16. 4Zts ABC 4 AD 7} LCAE 9] o]5 &AL uf, CD 9] Zol&
Ttk (2, A D =/A 9] 979 o] 5 E A3 BC 9] A 7te]
wHole})

® 8 cm @ 10 cm ® 12 cm



e
L

Lo

X

i

- HA|
= 28 Hx
©

il

Gl

7h



18. the 183} 22 AAZHE ABCD oA EG 9} HF 7F A& Azte g
7G: —

gt ,HF = 10 & wf, EG 2] Zo|& “tstoiet,
A H D
E
G
B o C



19.

7t 41590 5 GAZEGo) 9. o] £ Az 0] S4o] gol
72em 9l o], 22 Mﬂoﬂsﬂ 3 Wo] ZolE aom , 2 AAZIH ] 7
#o] Zol

S bem Al oF&}F a + b 9] 327

@D 8 @ 10 ® 18 @ 32



7E10
= A8 HA o] mAes} g

@ 3

D 2



21. t2 I19™oA /BAE = /CAD, /ABE = A
/ACD ¥ o], o8 & AABC &t S =3¢l
709
/\1_-

O AABE ©@ aADC (@ aBCF

@ AAED (G ACDF



22. o5 O¥3} 2ol BAD = /CAD = 45° ¢ 1, AABD 9] Ho]=?

@ 80cm? @ 90cm? @ 40cm?

@ 45cm? ® Ech



23.

7V2, Hl2e] Aozt Z+zt 10, 8 @1 A2 ABCD 9] 71 H#
AD 9ol g+ P, otz BC Yol &t H Q & AQ+PQ+PC
A7t F == Attt ojuf, Altte]E PDCQ 9] HeolE

S ER
=

= 5
o3

-5t

JE%&

‘?ﬂ

_4



24. o2 I™A /A =30°Y ©f, /BFD 9] 27|} 27|17} &2

A
D~E
B —C
® 55°, LADC ® 50°, LEBC ® 65°, /BAC

@ 60°, /BDC ® 70°, /ABE



25. o3 I8} 22 AABCOA A DEBCEHAYBEREHT7:3
2 Lhek gole,

AD = 14cm € W, AC ] Ao & Fstofet.

Qe o



